N of reco track vs dxy(PV)

N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

R ¢ F ° 2 F-
Q [*] o 6
g g g g
5 = 5 z
E k] g
=
=1
o
i<} e k=] i<} +
T 3 s 3 :
o 14 o o :
L L Lo L L L
-20-15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
. track dxy(PV) (cm) track dxy(PV) (cm)
e S
N of reco track vs — I — by (Pv)
(%] 1%} 2] M M M M M M 12}
8 g g Seeeereeeas <]
(] [} Q
E g
=
10 3
1
=] ] =] ]
g M 3 3 3
X o, 14 o4 14
9 .
o 1 ] Lol 1 I 1 1 Lot Lt Lt Lt 1
—'%.8 -06-04-02 0 0.2 04 06 038 -0.8-0.6-04-02 0 0.2 04 0.6 0.8 —%.8 -06-04-02 0 0.2 04 06 038 —%.8 -06-04-02 0 0.2 04 06 08
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
R g 2 2
[5} [} [=] %
g s g g
= © o E
£ 102 8 g
=
=1
o
L2 e 2
T T T
o o o
°¥ 20 -10 0 10 20 30 °%p =20 -10 0 10 20 30 5020 -0 0 10 20 30 B0 =20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
2 L 2 2
S S S S
g g g 8
[ [} Q
£ s g
=
=]
o
=] e =] e
s 3 s 3 :
o 14 o 14 :
23 FEEY S 3 FEEY M ob—1 L L L L o1 H L L L
0.5 1 -1 -0.5 0 0.5 1 -1 -0.5 0 0.5 1

0.5 1
track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


